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COMPOUND INTEREST

Example Type

1. The sum of the principal and compound interest for a fixed

period of time is termed as

A. Compound interest

B. Amount

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_v3360mps58kb


C. Simple interest

D. Total interest

Answer:

Watch Video Solution

2. If principal is p and annual rate of compound interest is

 then the amount for 3 years will be

A. Rs. 

B. 

C. 

D. 

Answer: C

r %

r(1 + )
3p

100

Rs. 3(1 + )
pr

100

Rs. P(1 + )
3r

100

Rs. P(1 + )
2r

100

https://dl.doubtnut.com/l/_v3360mps58kb
https://dl.doubtnut.com/l/_MlNJIoOD7wGf


Watch Video Solution

3. The amount on Rs. 1000 for 2 years at the rate of 5%

compound interest per annum is

A. Rs. 1102.50

B. Rs. 1120.50

C. Rs. 1021.50

D. Rs. 1202.50

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MlNJIoOD7wGf
https://dl.doubtnut.com/l/_0kyPlTq74C5j


4. At 5% compound interest per annum the compound

interest on Rs. 10000 for 3 years is

A. Rs. 1567.25

B. Rs. 1567.52

C. Rs. 1657.25

D. Rs. 1576.25

Answer: D

Watch Video Solution

5. If the rate of compound interest for the first year is 4% and

2nd year is 5% where compound interest on Rs. 25000 for 2

years is

https://dl.doubtnut.com/l/_lkuucCbsU2Q8
https://dl.doubtnut.com/l/_1dWutP63gxUz


A. Rs. 3200

B. Rs. 2300

C. Rs. 2302

D. Rs. 2310

Answer: B

Watch Video Solution

6. A. Write true of false: 

a. If Principal , rate of compound interest per annum

 and time  years, then the amount after 2 years

is  


b. If principal  and rate of compound interest per

annum for first, 2nd and 3rd year be  and 

= Rs. p

= r % = n

Rs. p(1 + )
2r

100

= Rs. p

r1 % , r2 % r3 %

https://dl.doubtnut.com/l/_1dWutP63gxUz
https://dl.doubtnut.com/l/_NjTiKjsoehQa


respectively, then total amount for 3 years. 

Watch Video Solution

= Rs. p(1 + )
3

+ Rs. p(1 + )
3

+ Rs. p(1 + )
3r1

100

r2

100

r3

100

7. Fill in the blanks: 

a. Principal and compound interest

are_________________proportional. 

b. Interest  Amount _________. 


If principal  rate of compound interest be r% per

annum and time period be  years, then _____

Watch Video Solution

= −

= Rs. P

n =
prt

100

https://dl.doubtnut.com/l/_NjTiKjsoehQa
https://dl.doubtnut.com/l/_g8IxHfdQ7fO8


8. If principal  and rate of compound interest per

annum for first, 2nd and 3rd year are  and 

respectively, then find total amount for first year.

Watch Video Solution

= Rs. p

r1 % , r2 % r3 %

9. Calculate the amount on Rs. 20000 at the rate of 5%

compound interest per annum for 2 years.

Watch Video Solution

10. If the rate of compound interest of principal Rs.  is r%

per annum and the interest is compound quarterly, i.e. the

number of phase of compound in a year is 4, then find the

amount for  years.

p

n

https://dl.doubtnut.com/l/_7le1FTZqkOxp
https://dl.doubtnut.com/l/_PJBcFyuwdhGq
https://dl.doubtnut.com/l/_LG1y6HyN80Jl


Watch Video Solution

11. If the compound interest of principal Rs.  is a% per

annum and the interest is compounded half-yearly, then find

the amount in  years.

Watch Video Solution

p

n

12. Calculate the amount on Rs. 5000 at the rate of 8%

compound interest per annum for 3 years.

Watch Video Solution

13. In how much time Rs. 64000 will amount Rs. 68921 at the

rate of 10% compound interest per annum if interest is

https://dl.doubtnut.com/l/_LG1y6HyN80Jl
https://dl.doubtnut.com/l/_0bIgSoo3oZWT
https://dl.doubtnut.com/l/_h9uJvBcr3cJU
https://dl.doubtnut.com/l/_SJDLMP4Shi2E


compounded quarterly?

Watch Video Solution

14. Rina took a loan at the rate of 15% compound interest per

annum. If she refunded Rs. 1290 after 2 years, then what sum

of money did Rina take?

Watch Video Solution

15. In how much time rs. 6400 will amount Rs. 6561 at the rate

of 5% compound interest when interest is compounded

quaterly?

Watch Video Solution

https://dl.doubtnut.com/l/_SJDLMP4Shi2E
https://dl.doubtnut.com/l/_7ZkSs6ev6WFz
https://dl.doubtnut.com/l/_13N5IFM4NICY
https://dl.doubtnut.com/l/_8dHNcvlQGPww


16. Ay what rate of compound interest per annum Rs. 1000

will amount Rs. 13310 in 3 year?

Watch Video Solution

17. At what rate of compound interest per annum a sum of

money Rs. 32000 will amount Rs. 39753.50 in  years. When

interest is compound hal -yearly?

Watch Video Solution

1
1

2

18. At the rate of compound interest 5% per annum, find the

amount of Rs. 80000 in  years.

Watch Video Solution

2
1

2

https://dl.doubtnut.com/l/_8dHNcvlQGPww
https://dl.doubtnut.com/l/_cJcVbLZCZjpK
https://dl.doubtnut.com/l/_vHmkHJOAs8AQ
https://dl.doubtnut.com/l/_ESFjdfBw9sjU


19. Gautambabu has taken a loan of Rs. 2000 for 2 years at

the rate of compound interest fo 6% per annum. Find the

compound interest he has to pay after 2 years.

Watch Video Solution

20. Chandadebi took a loan of some money for 2 years at the

rate of compound interest of 8%. If the compound interest

paid by her be Rs. 2496 then find the quantity of loan

Chandadebi had lended.

Watch Video Solution

21. Find the principal which becomes Rs. 2648 after getting

10% compund interest per annum for 3 years.

https://dl.doubtnut.com/l/_ESFjdfBw9sjU
https://dl.doubtnut.com/l/_MJqR5HHmUVW8
https://dl.doubtnut.com/l/_xW1i6z5dN9g4


Watch Video Solution

22. Rahamanchacha deposited some money in a Co-operative

Bank at the rate of 9% compound interest and he received

amount Rs. 29702.50 after 2 years. Find how much money

Rahamanchacha had deposited in Co-operative Bank.

Watch Video Solution

23. Determine the difference between compound interest and

simple interest on Rs. 10000 for 3 years at 5% per annum.

Watch Video Solution

https://dl.doubtnut.com/l/_xW1i6z5dN9g4
https://dl.doubtnut.com/l/_QHhlwgtQCrUL
https://dl.doubtnut.com/l/_YFR0SF4x601W


24. Find the sum of money if the difference between

compound interest and simple interest for 2 years at the rate

of 9% interest per annum is Rs. 129.60

Watch Video Solution

25. Find the sum of money if the difference between

compound interest and simple interest for 3 years becomes

Rs. 930 at the rate of 10% per annnum.

Watch Video Solution

26. If the rate of compound interest for the first and second

year are 5% and 6% respectively, then find the compound

interest on Rs. 5000 for 2 years.

https://dl.doubtnut.com/l/_OWMtNVsNRgzg
https://dl.doubtnut.com/l/_QZ4C3la1TmCX
https://dl.doubtnut.com/l/_LBJLLjTOn2Jv


Watch Video Solution

27. If the rate of compound interest for the first year be 3%,

for the second year be 2% and for the third year be 1% then

find the sum of the money, the amount of which of 3 years is

Rs. 15916.59.

Watch Video Solution

28. If the simple interest of a certain sum of money for 1 year

is Rs. 50 and compound interest for 2 years is Rs. 102, then

find the sum of money and the rate of interest.

Watch Video Solution

https://dl.doubtnut.com/l/_LBJLLjTOn2Jv
https://dl.doubtnut.com/l/_9wNhnpopbZqh
https://dl.doubtnut.com/l/_fFCuqxgvY2cm
https://dl.doubtnut.com/l/_GPkg5REthbcN


29. If simple interest and compound interest of a certain sum

of money for two years are Rs. 8400 and Rs. 8652 respectively,

then find the sum of money and the rate of interest.

Watch Video Solution

30. Divide Rs. 6305 into there parts in such a way that at the

rate of compound interest of 5% per annum the amount of

1st part in 2 years, the amounts of 2nd part in 3 years and the

amounts of 3rd part in 4 years are all equal.

Watch Video Solution

31. Divide Rs. 3903 between A and B in such a way that at the

rate of compound interest of 4% pr annum, the amount

https://dl.doubtnut.com/l/_GPkg5REthbcN
https://dl.doubtnut.com/l/_Ut6h7qRGufAF
https://dl.doubtnut.com/l/_dyW7b0XAkhlk


obtained by A after 7 years is equal to the amount obtained

by B after 9 years.

Watch Video Solution

32. A sum of money becomes 2-times at the rate of

compound interest in 15 years. In how many years, it will

becomes 8 times at the same of compound interest?

Watch Video Solution

33. The simple interest of a sum of money at the rate of 4%

per annum in 3 years is Rs. 303.60. Then find the compound

interest of the same principal at the same rate of compound

interest in the same period of time.

W t h Vid S l ti

https://dl.doubtnut.com/l/_dyW7b0XAkhlk
https://dl.doubtnut.com/l/_bJfE9gos1EeF
https://dl.doubtnut.com/l/_EIZNJYO9wjoz


Watch Video Solution

34. Bijoy borrowed Rs. 64000 from a bank. If the rate of

interest per annum be 2.5 paisa per Rs. 1, then how much

compound interest should Bijoy have to pay to the bank after

3 years?

Watch Video Solution

35. Calculate the rate of simple interest per annum, so that

the amount on RS 500 for 2 years becomes Rs 550.

Watch Video Solution

https://dl.doubtnut.com/l/_EIZNJYO9wjoz
https://dl.doubtnut.com/l/_ArcalT7kFV6O
https://dl.doubtnut.com/l/_SkUZ6p9Cg7jk


36. A person invested a sum of moneh in a bank under this

condition that the bank will offer him compound interest. If

the compound interest fo two consecutive years be Rs. 225

and Rs. 238.50 respectively, then find the rate of compound

interest per annum.

Watch Video Solution

37. The simple interest and compound interest of a certain

sum of mone for 2 years are Rs. 840 and Rs. 869.40

respectively. Find the sum of money and the rate of interest.

Watch Video Solution

https://dl.doubtnut.com/l/_j7h93SgTzmQC
https://dl.doubtnut.com/l/_ggojBNODOcSi


38. Calculate at what rate of compound interest Rs. 5000

amount to Rs. 5832 in 2 years.

Watch Video Solution

39. Calculate the compound interest on Rs. 6000 for 1 year at

the rate of 8% compound interest per annum compounded

at the interval of 6 months.

Watch Video Solution

40. Calculate the compound interest on Rs. 6250 for 9

months at the rate of 10% compound interest per annum

compounded at the interval of 3 months.

Watch Video Solution

https://dl.doubtnut.com/l/_wSoKHE4yBmUN
https://dl.doubtnut.com/l/_OvTyVamQoKnK
https://dl.doubtnut.com/l/_i7kW1Pf1xD9x


Watch Video Solution

41. Calculate at what rate of interest per annum will Rs.

60000 amount to rs. 69984 in 2 years.

Watch Video Solution

42. Calculate the principal which amonts Rs. 9826 after 18

months at the rate of compound interest 2.5% per annum

when interest is compunded at the interval of 6 months.

Watch Video Solution

43. A sum of money was invested in a monetary fund for 2

years at the rate of compound interest of 20% per annum. If

https://dl.doubtnut.com/l/_i7kW1Pf1xD9x
https://dl.doubtnut.com/l/_XcEAH76we03R
https://dl.doubtnut.com/l/_cThHTuYaJ84r
https://dl.doubtnut.com/l/_Qh1JG5TbJOFE


interest had been compounded at the interval of 6 months ,

then the compound interest would be Rs. 482 more of the

same principal at the same rate of interest. Find the sum of

money invested.

Watch Video Solution

44. At the rate of compound interest of 8% per annum in

how many years will the principles Rs. 40000 amount Rs.

46656?

Watch Video Solution

45. Calculate in how many years will Rs. 300000 amount to

Rs. 399300 at the rate of 10% compound interest per annum.

W t h Vid S l ti

https://dl.doubtnut.com/l/_Qh1JG5TbJOFE
https://dl.doubtnut.com/l/_Wt8t4duMylcU
https://dl.doubtnut.com/l/_4ef5lbg1FlgT


Watch Video Solution

46. Calculate the compound interest and amount on Rs. 1600

for  years at the rate of 10% compound interest per

annum compounded at the interval of 6 months.

Watch Video Solution

1
1

2

47. In the case of compound interest the rate of compound

interest per annum for every years is

A. equal

B. unequal

C. both equal or unequal

D. none of the above

https://dl.doubtnut.com/l/_4ef5lbg1FlgT
https://dl.doubtnut.com/l/_pukctVc7XbqC
https://dl.doubtnut.com/l/_DhMvB3GK8we8


Answer:

Watch Video Solution

48. In the case of compound interest

A. The principal remains the same in every year

B. The principal changes every year

C. Every year the principal may remain the same or may

change

D. Noen of the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_DhMvB3GK8we8
https://dl.doubtnut.com/l/_8LPsFwndY3Nz
https://dl.doubtnut.com/l/_LEHCNhQxXQrL


49. If the present population of a village be  and th rate of

uniform increase in population in every year be  then

the population of the village after years will be

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P

2r %

P(1 + )
nr

100

P(1 + )
nr

50

P(1 + )
2nr

100

P(1 − )
nr

100

50. The present value of a machine be Rs.  and every year

the value of it decreases by . Then the value of the

2P

2r %

https://dl.doubtnut.com/l/_LEHCNhQxXQrL
https://dl.doubtnut.com/l/_BOmbfjZh355o


machine after  years is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2n

Rs. P(1 − )
nr

100

Rs. 2P(1 − )
nr

50

Rs. P (1 − r /50)2n

Rs. 2P(1 − )
2nr

50

51. If interest is compounded at the interval of 3 months, the

amount of the principal Rs. A. at the rate of compound

interest of % per annum after c years is

A. 

b

Rs. A(1 − )
4c

b

400

https://dl.doubtnut.com/l/_BOmbfjZh355o
https://dl.doubtnut.com/l/_j6V8J7RCUlBB


B. 

C. 

D. 

Answer:

Watch Video Solution

Rs. a(1 + )
4c

b

100

Rs. a(1 + )
©

b

100

Rs. a(1 + )
c

b

100

52. State whether the following statement is true or false: 

I. The compound interest of a certain sum of money for a

certain period of time at the certain rate of compound

interest per annum is less than the simple interest of the

same sum of money for the same period of time and at the

same rate of interest. 

II. In the case of compound interest the quantity of principal

https://dl.doubtnut.com/l/_j6V8J7RCUlBB
https://dl.doubtnut.com/l/_A0omonYG7QEn


gradually increases. 

III. In the case of compound interest, the rate of interest

changes every year. 

IV. In the case of compound interest, the same quantity of

interest is obtained in every year. 

V. In the case of compound interest the obtained interest is

proportional to the period of time.

Watch Video Solution

53. Fill in the blanks: 

i. If the increase of any object occurs at the certain rate with

respect to certain period of time. Then it is

called………..increase. 

ii. If the decrease of any object occurs at a certain rate with

respect to certain period of time, then it is called uniform.........

https://dl.doubtnut.com/l/_A0omonYG7QEn
https://dl.doubtnut.com/l/_7poTJJZffsdP


iii. Compound interest  principal. 


iv. If the rate of compound interest decreases, then the

quantity of compound interest also.......... ltbr. v. For the 1st

year the simple and ocmpound interest are the............

Watch Video Solution

= ............ −

54. At a ceratain rate of compound interest if a sum of money

becomes double in  years then find the period of time in

which it will become 4-times.

Watch Video Solution

n

55. The value of a machien being decreased in  years at the

rate of  per year, becomes Rs. V. Find the value of the

machine before  years.

y

r %

n

https://dl.doubtnut.com/l/_7poTJJZffsdP
https://dl.doubtnut.com/l/_tj8Pte3Rx3Y3
https://dl.doubtnut.com/l/_E7vDEkCMnbFC


Watch Video Solution

56. At the end of 2nd and 3rd yea, the compound interest of a

sum of money is Rs. 880 and Rs. 968 respectively. What will be

the rate of interest per annum?

Watch Video Solution

57. What is the equivalent rate fo compound interest per

annum if the half yearly compound interest be 10%?

Watch Video Solution

58. The present populatiion of a town is 16000. If the rate of

increase of population be 5% per annum, then what will be

https://dl.doubtnut.com/l/_E7vDEkCMnbFC
https://dl.doubtnut.com/l/_lfoFQQnGBtKS
https://dl.doubtnut.com/l/_verNqel4IBIU
https://dl.doubtnut.com/l/_zmIb6xeiZ4Zi


the population of the town after 2 years?

Watch Video Solution

59. The rate of increase of population of a state is 2% per

annum. If the present population of a state be 80000000,

then what will the population of the state after 3 years?

Watch Video Solution

60. The value of a machine of a factory decreases by 10% per

year. If the present value of the machine be Rs. 100000, then

what will be the value of it after 3 years?

Watch Video Solution

https://dl.doubtnut.com/l/_zmIb6xeiZ4Zi
https://dl.doubtnut.com/l/_q2SyRnjzKbto
https://dl.doubtnut.com/l/_DZcEPBFAThqx
https://dl.doubtnut.com/l/_vmguUYHHMTOg


61. As a result of Sarba Siksha Abhiyan the students leaving

the school before completion, are re-admitted, so the

students in a year is increased by 5% in comparison to its

previous year. If the number of such re-admitted students in

a district be 3528 in the present year. Find the number of

students re -admitted 2 years before in this manner.

Watch Video Solution

62. The present population of a town is 576000. If the rate of

increase of population be  per annum, then what was

the population of the twon before 2 years?

Watch Video Solution

6 %
2

3

https://dl.doubtnut.com/l/_vmguUYHHMTOg
https://dl.doubtnut.com/l/_NGuHE23ROGjR


63. Through the poublicity of road -safety programme, the

street accidents in Purulia district are decreased by 10% in

comparison to its previous year. If the number of street

accidents in this year be 8748, then find the number of street

accidents 3 years before in the district.

Watch Video Solution

64. The height of a triee increases by 20% per annum. If the

present height of the tree be 28.8 metres, then what was the

height of the tree before 2 years?

Watch Video Solution

https://dl.doubtnut.com/l/_Seqi0ODsep0H
https://dl.doubtnut.com/l/_d4sJ9AndToLT


65. Weightof Sovanbabu is 80 kg. In order to reduce his

weight, he started regular morning walk. He decided to

reduce his weight every year by 10%. Calculaate the weight of

Sovanbabu after 3 years.

Watch Video Solution

66. At the present the sum of the number of students in All

M.S.K in a district is 3993. if the number of students increased

in a year was 10% of its previous year, calculate the sum of

the number of students 3 years before in all the M.S.K in the

district.

Watch Video Solution

https://dl.doubtnut.com/l/_Q56Bh1ESnxfd
https://dl.doubtnut.com/l/_KhNSRTE1KJSi


67. The present value of a machine of a factory is Rs. 180000.

If the value of the machine decreases at the rate of 10% per

annum, then what will be the value of the machine after 3

years?

Watch Video Solution

68. For the families having no electricity in their house, a

Panchayat samity of village Bakultala accepted a plan to offer

electric connections, 1200 families in these village have no

electric connection in their houses. In comparison to its

previous years, it is possible to arrange electricity every year

for 75% of the families having no electricity. Find the number

of families without electricity after 2 years.

Watch Video Solution

https://dl.doubtnut.com/l/_nohSVptyO55r
https://dl.doubtnut.com/l/_vph5x50JDXPB


69. As a result of continuous publicity on harmful reactions in

the use of cold drinks filled bottles, the number of users of

cold drinks is decreased by 25% every year in comparison to

its previous year, 3 years before number of users of cold

drinks in a town was 80000. Find the number of users of cold

drinks in the presnet year.

Watch Video Solution

70. As a result of publicity on smoking, the number of smoker

is decreased by  every year in comparison to its

previous year. If the number of smokers at present in a city is

33750 find the number of smolers in that city 3 years before.

Watch Video Solution

6 %
1

4

https://dl.doubtnut.com/l/_vph5x50JDXPB
https://dl.doubtnut.com/l/_VzECKtjYtUCw
https://dl.doubtnut.com/l/_wMNLao1eBnRp


71. The population of a village is 20000. If the rate of birth be

4% per annum and the of death be 2% per annum, then find

the population of the village after 2 years.

Watch Video Solution

72. The population of a town was 160000 before 3 years. If

the rate of growth of population in these three years be 3%,

2.5% and 5% respectively, then find the population of the

town at present.

Watch Video Solution

https://dl.doubtnut.com/l/_wMNLao1eBnRp
https://dl.doubtnut.com/l/_3pZzOEK1UXxa
https://dl.doubtnut.com/l/_FNHlTSePLlYN


73. The present value of a car is Rs. 360000. If the value of the

car decreases at the rate of 10% in the first year and in the

next every year the rate of decrease is 20% per year. Then find

the value of car after 3 years.

Watch Video Solution

74. This year the number of blood donners in a hospital is

24000. If the number of blood donners increases by 5% in

every 6 months, then in how much time will the number of

blood donners be 27783?

Watch Video Solution

https://dl.doubtnut.com/l/_MBw9Dm8IesHP
https://dl.doubtnut.com/l/_We2BrO4SOUli


Mcq Type

75. The number of bicycles produced in the year 2012 and in

the year 2015 are 80000 and 92610 respectively. Then find the

rate of increase of production in percentage per annum.

Watch Video Solution

1. If a principal be Rs.  and annual rate of compound interest

is  then the amount for 3 years will be

A. 

B. 

C. 

D. 

p

r %

Rs. (p − )
3r

100

Rs. (p + )
3r

100

Rs. (p + )
2r

200

Rs. (p + )
2r

100

https://dl.doubtnut.com/l/_zbMi5kbBl6To
https://dl.doubtnut.com/l/_7GOJivSogQpM


Answer: B

Watch Video Solution

2. Interest of principal Rs.  on  years at the rate of 

compound interest per annum when interests are calculate

 times per year 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p n r %

m =

Rs. p(1 + )

mnr
m

100

Rs. P(1 + )

nr
m

100

Rs. P(1 + )

mr
m

100

Rs. P(1 + )
mnrm

100

https://dl.doubtnut.com/l/_7GOJivSogQpM
https://dl.doubtnut.com/l/_tE70cMRk2eKk


3. If the annual rate of compound interesting 1st year be

, in 2nd year be  and in 3rd year be  then the

total amount of principal Rs.  in  years

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

r1 % r2 % r3 %

p 3 =

Rs. P(1 − )(1 − )(1 − )
r10

100

r2

100

r3

100

Rs. P(1 + )
n

(1 + )
n

(1 + )
nr1

100

r2

100

r3

100

Rs. P(1 + )(1 + )(1 + )
r1

100

r2

100

r3

100

https://dl.doubtnut.com/l/_tE70cMRk2eKk
https://dl.doubtnut.com/l/_mS8y5XNPTY6G


4. A 5% compound interest per annum the compound

interest on  for 2 years is

A. Rs. 10125

B. Rs. 11205

C. Rs. 11250

D. Rs. 11025

Answer: D

Watch Video Solution

R10000

5. Compound interest on  at the rate of 10%

compound interest per annum in 1 year is

R1000

https://dl.doubtnut.com/l/_ieWhWGVIPGDJ
https://dl.doubtnut.com/l/_A89cXNqW8Ebd


A. Rs. 10

B. Rs. 100

C. Rs. 50

D. Rs. 200

Answer: B

Watch Video Solution

6. If the compound interests in two consecutive years be Rs.

400 and Rs. 432 then the rate of interest is

A. 0.1

B. 0.08

C. 0.06

https://dl.doubtnut.com/l/_A89cXNqW8Ebd
https://dl.doubtnut.com/l/_pPB5KY85HS67


D. 0.12

Answer: B

Watch Video Solution

7. At the rate of 8% compound interest per annum, in how

many years will Rs. 10000 amount to Rs. 11664?

A. 2 years

B. 4 years

C. 6 years

D. 8 years

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pPB5KY85HS67
https://dl.doubtnut.com/l/_fHoBufnlgQui


8. The present value of a piece of land is Rs. 2x. If the value of

the land increases at the rate of  per annum, then after 

 after years the value of the land will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2r %

2n

Rs. x(1 + )
nr

100

Rs. 2x(1 + )
2n

2r

50

Rs. 2x(1 + )
2nr

50

Rs. 2x(1 + )
2nr

100

https://dl.doubtnut.com/l/_fHoBufnlgQui
https://dl.doubtnut.com/l/_BzvbmKnRxjQ1


9. The difference of compound and simple interest of Rs. x at

the rate of interest r% per anum be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Rs.
xr

100

Rs. {x(1 + ) − }
r

100

xr

100

Rs. x

Rs.0

10. At the same rate of interest and for the same period of

time in which case is the investement more profitable to

https://dl.doubtnut.com/l/_IYL7rsVCpZe7
https://dl.doubtnut.com/l/_1YQbWtZ5g6fX


Very Short Answer Question Type

invest same quantity of money in compound and in simple

interest?

A. In simple interest

B. In compound interest

C. Both of them

D. None of them.

Answer: B

Watch Video Solution

1. If the principal be Rs.  annual rate of compound interest

be r% and interest is compounded  times, then after 

p

m n

https://dl.doubtnut.com/l/_1YQbWtZ5g6fX
https://dl.doubtnut.com/l/_E98I6DZBwPJY


times, write the amount.

Watch Video Solution

2. If the principal be Rs.  and the annual rate of compound

interest be r% and if interest is compunded at the end of a

year, then write the amount after  years.

Watch Video Solution

p

3
1

4

3. If the principal be Rs.  and the annual rate of compound

interest be r% then write the amount after  years when

interest is compounded at the interval of 3 months.

Watch Video Solution

p

n

https://dl.doubtnut.com/l/_E98I6DZBwPJY
https://dl.doubtnut.com/l/_T9AbDiy1BnqY
https://dl.doubtnut.com/l/_pPifbjP659Rt
https://dl.doubtnut.com/l/_ikY74lSp5QSd


True False

4. If the principal be Rs.  and the annual rate of interest be

 in the 1st year  in the 2nd years, then write the

amount after  years.

Watch Video Solution

p

r1 % r2 %

n

5. If interest is compounded at the interval of 6 months, then

find the amount of Rs. 20000 at the annual rate of compound

inteest 20% in  years.

Watch Video Solution

1
1

2

https://dl.doubtnut.com/l/_ikY74lSp5QSd
https://dl.doubtnut.com/l/_YwakZBNWsY6M


1. If the rate of compound interest is r% and the interest is

compounded half -yearly, then the amount in  years

 where  principal.

Watch Video Solution

n

= Rs. P(1 + )

nr

2

100
p =

2. The simple interest and compound interest of a certain

sum of money for two years are Rs. 400 and Rs. 410

respectively. Then the rate of interest per annum is 5%.

Watch Video Solution

3. If the rate of interest decreases, then the compound

interest also decreases.

https://dl.doubtnut.com/l/_WXOjdV6KhBrp
https://dl.doubtnut.com/l/_TH5y5mNoCrwz
https://dl.doubtnut.com/l/_Pt2Zurq2gJrw


Fill In The Blanks

Watch Video Solution

4. The simple and the compound interest for the first year

(given at the end of the year) are the same.

Watch Video Solution

5. In the case of compound interest the principal does not

change.

Watch Video Solution

https://dl.doubtnut.com/l/_Pt2Zurq2gJrw
https://dl.doubtnut.com/l/_XZqAqGSp1Awi
https://dl.doubtnut.com/l/_lvc8rhuxcLz2


1. After a definite period of time the interest acquired is

added to the principal to get the new principal. For the

definite period of time, if the interest is calculated on the

new principal, then the interest is called………. Interests.

Watch Video Solution

2. Amount  Principal 

Watch Video Solution

= +( __ __ __ _ )

3. If  years and interest is

compounded half yearly, the compound interest for  years

.

Watch Video Solution

p = Rs. 8000, r = 10, t = 1
1

2

1
1

2

=_ __ __ __ __

https://dl.doubtnut.com/l/_Pm9PGR08tL1y
https://dl.doubtnut.com/l/_mk965mozMpso
https://dl.doubtnut.com/l/_tSoApZXBc31t


Short Answers Type Questions

Watch Video Solution

4. …………………..  Amount  Principal.

Watch Video Solution

= −

5. The compound interest of Rs.  at the rate of a%

compound interest per annum in c years is …………………….

Watch Video Solution

b

1. Mr. Patul deposited Rs. 15000 in a bank. If the rate of annual

compound interest be 12% then find the amount after 9

https://dl.doubtnut.com/l/_tSoApZXBc31t
https://dl.doubtnut.com/l/_rC3rSAwLGGPK
https://dl.doubtnut.com/l/_ewpxv5epSOAp
https://dl.doubtnut.com/l/_GIOogFk3GXCF


months when interests is compounded at the interval of 3

months.

Watch Video Solution

2. Find the amount of Rs. 16000 at the rate of annual

compound interest 10% in 2 years when interest is

compounded at the interval of 6 months.

Watch Video Solution

3. Mr. Banerjee depisoted Rs. 25000 in a bank for 6 months at

the annual rate of compound interest 8%. Find the amount

Mr. Banerjee will get after 6 months when interest is

compunded at the interval of 3 months.

W t h Vid S l ti

https://dl.doubtnut.com/l/_GIOogFk3GXCF
https://dl.doubtnut.com/l/_5d9M4YFkm43g
https://dl.doubtnut.com/l/_QBFnj9bYIcy2


Watch Video Solution

4. Ganesh bought a refrigerator for Rs. 30000 in credit. If the

rate of compound interest is the 1st year be 5%. In the 2nd

year be 10% and in the 3rd year be 15%, then find the total

amount he would have to pay after 3 years.

Watch Video Solution

5. Determine the compound interest of Rs. 24000 in  years

at the rate of annual compound interest 15%.

Watch Video Solution

2
1

3

https://dl.doubtnut.com/l/_QBFnj9bYIcy2
https://dl.doubtnut.com/l/_OqmSWWhKUCJw
https://dl.doubtnut.com/l/_KnuK36GZpMfI


6. At the rate of half -yearly compound interest a sum of

money amounts  timesof it then find the rateof

interest.

View Text Solution

9261

8000

7. If the half yearly compound interest obtained by a person

be 5% then what will be the rate of interest in yearly system

of interest?

Watch Video Solution

8. A principal amounts Rs. 1210 and Rs. 1331 respectively in 2

years and 3 years at the rate of compound interest. Calculate

the principal.

https://dl.doubtnut.com/l/_EpvD6AwhQQQ3
https://dl.doubtnut.com/l/_q5V7oM4u6rCc
https://dl.doubtnut.com/l/_KeimflluvMd6


Watch Video Solution

9. The total populatiion of a country is . If the

population increases at the rate of 12.5% at the interval of

each 2 years, then what will be the population of the country

after 6 years.

Watch Video Solution

2 × 108

10. What will be the compound interest of Rs. 50000 in 6

months at the rate of compound interest 12% per annum

when interest is compounded at the interval of 3 months?

Watch Video Solution

https://dl.doubtnut.com/l/_KeimflluvMd6
https://dl.doubtnut.com/l/_gN8s5Fet95Uu
https://dl.doubtnut.com/l/_mwBsYH2sjYcB


Long Answer Type Questions

1. Rohit invested Rs. 10000 for 3 years at the rate of

compound interest of 10%. Find the amount obtained by him

after 3 years.

Watch Video Solution

2. Ramesh deposited Rs. 8000 in a bank for 2 years at the rate

of compoud interest of 5% per annum. After 2 years what

amount of money will the bank repay him?

Watch Video Solution

https://dl.doubtnut.com/l/_JVx8BGiVUJm1
https://dl.doubtnut.com/l/_1YgngF6cRzsg


3. Find the compound interest of Rs. 12000 in 3 years at the

rate of 10% compound interest per annum.

Watch Video Solution

4. Find the mean of the Binomial distribution 

Watch Video Solution

B(4, )
1

3

5. A borrowed some money for 2 years at the rate of

compound interest of 8%. If A had repaid an amount of Rs.

2916 after 2 years, then how much money did A borrow?

Watch Video Solution

https://dl.doubtnut.com/l/_xbcvF5U7BxVh
https://dl.doubtnut.com/l/_QBrA38tKW6YU
https://dl.doubtnut.com/l/_sUdfMyYXSJtN
https://dl.doubtnut.com/l/_Bb8yi3UgtiK3


6. At the rate of compound interest of 10% per annum, find

the sum of money, the compound interest of which is Rs. 331

after 3 years.

Watch Video Solution

7. At what rate of compound interest per annum the amount

of Rs. 10000 after 3 years will be Rs. 13310?

Watch Video Solution

8. Amar bought a T.V by borrowing Rs. 4000. If the rate of

compound interest for 1st and 2nd year be 5% and 15%

respectively, then after 2 years how much amount he have to

pay the price of T.V?

https://dl.doubtnut.com/l/_Bb8yi3UgtiK3
https://dl.doubtnut.com/l/_uf0Vy17Ef9Zy
https://dl.doubtnut.com/l/_33eqpaRX1ZN5


Watch Video Solution

9. At the rate of compound interest of 10% per annum, find

the sum of money for which the difference of compound

interest and the simple interest in 2 years is Rs. 500.

Watch Video Solution

10. Nikhil deposited Rs. 6000 in a bank at the rate of

compound interest of 5% per annum. If Arun, the elder

brogher of Nikhil, also deposit Rs. 5000 in the post office at

the rate of compoound interest 8% per annum, then what

will be the difference of the two interests obtained by them

after 2 years?

Watch Video Solution

https://dl.doubtnut.com/l/_33eqpaRX1ZN5
https://dl.doubtnut.com/l/_25gffvz2OQxZ
https://dl.doubtnut.com/l/_rXF9rOoHSuuf


11. At a certain of compound interest if the amount of Rs. 400

in 2 years be Rs. 441, then when the rate of compound

interest is increased by 5% per anum, how much more money

will be got after 2 years?

Watch Video Solution

12. A sum of money becomes  times after 6 years at a

certain rate of compound interest per annum, then how

much time will the sum of money become after 18 years?

Watch Video Solution

2
1

2

https://dl.doubtnut.com/l/_rXF9rOoHSuuf
https://dl.doubtnut.com/l/_9OuRyynkk0BG
https://dl.doubtnut.com/l/_kN7Sm857NNOw


13. Determine the principal for which the compound interest

is more than the simple interest Rs. 6.40 in 2 years at the rate

of compound interest 8% per annum.

Watch Video Solution

14. If the deposited money in a monetary found becomes

 times in 3 years, then find the rate of compound

interest per annum.

Watch Video Solution

216

125

15. If the amounts of a sum of money be Rs. 672 in 2 years and

Rs. 714 in years, then find the rate of compound interest per

annum.

https://dl.doubtnut.com/l/_AUDBFatWUoLG
https://dl.doubtnut.com/l/_S9uiFwtZ0V62
https://dl.doubtnut.com/l/_ewLVF2eCMuuC


Watch Video Solution

16. A and B borrowed an equal sum of money at the rate of

5% per annum, with simple and compound interest

respectively. If B paid Rs. 15 more than A after 2 years as the

interest, then find their respective sum of money.

Watch Video Solution

17. Divides Rs. 1301 between Nikhil and Ashin in such a way

that at the rate of compound interest of 4% the amount

obtaind by Nikhil after 7 years is equal to that obtained by

Ashim after 9 years.

Watch Video Solution

https://dl.doubtnut.com/l/_ewLVF2eCMuuC
https://dl.doubtnut.com/l/_9SXG8W2DIFCU
https://dl.doubtnut.com/l/_wgljW51Uwu5K


18. Find the difference between compound and simple

interest of Rs. 16000 at the rate of interest of 5% per annum

when interest is compounded at the interval fo 6 months.

Watch Video Solution

19. At the rate of 4% compound interest per annum the

difference between compound and simple interest of a sum

of money is Rs. 20 .Find the sum of money.

View Text Solution

20. If the compound and simple interest of a certain principal

in 2 years be Rs. 40.80 and Rs. 40 respectively, then find the

principal and the rate of interest in percent per annum.

https://dl.doubtnut.com/l/_FlbFeoavdo9H
https://dl.doubtnut.com/l/_3fetevy7cW48
https://dl.doubtnut.com/l/_mnZuKU4INXnu


Watch Video Solution

21. If the ratio of the compound interest in 3 years and the

simple interest in 2 years of a certain principal be  then

what will be the rate of interest?

View Text Solution

13: 4

22. At the rate of 5% compound interest per annum, in how

many years will a principal of Rs. 4000 amount to Rs. 4410?

Watch Video Solution

23. In how many years will the principal Rs. 800 amount of Rs.

882 at the rate of compound interest of 5% per annum?

https://dl.doubtnut.com/l/_mnZuKU4INXnu
https://dl.doubtnut.com/l/_IBMvHd3QsoNL
https://dl.doubtnut.com/l/_JnHAJKBbYtIh
https://dl.doubtnut.com/l/_q5ODv5Hq8o2k


Watch Video Solution

24. In how many years will Rs. 64000 amount to Rs. 68921 at

the rate of 5% compound interest per annum when the

interest is compounded at the interval of 6 months?

Watch Video Solution

25. Ramen obtained simple interest Rs. 1600 by depositing a

sum of money in a bank after 4 years at the rate of 4% simple

interest per annum. If the same sum of money will be

deposited in the bank at the rate of 10% compound interest

per annum, then what will be the obtained compound

interest?

Watch Video Solution

https://dl.doubtnut.com/l/_q5ODv5Hq8o2k
https://dl.doubtnut.com/l/_IAteWmq85zeM
https://dl.doubtnut.com/l/_pZC4teocJlD0


26. What will be the compound interest of Rs. 12000 in 2

years at the rate of 20% compound interest per annum, when

interest is compounded at the interval of 6 months?

Watch Video Solution

27. What will be the compuound interest of Rs. 1000 in 18

months at the rate of 10% compound interest per annum

when the interest is compounded at the interval of 6

months?

Watch Video Solution

https://dl.doubtnut.com/l/_pZC4teocJlD0
https://dl.doubtnut.com/l/_GtwU9atGHlof
https://dl.doubtnut.com/l/_R4IEJeBnrpA6


28. What will be the compound interest of Rs. 320000 in 1

year at the rate of 20% compound interest per annum when

the interest is compounded at the interval of 3 months?

Watch Video Solution

29. Shyam deposited Rs. 7500 for 6 months in a bank. If the

rate of compound interest be 8% per annum and interest is

compounded at the interval of 3 months, then what amount

will Shyam obtain after 6 months?

Watch Video Solution

30. If the intertest compounded at the interval of 6 months

and the rate of compound interest be 5% per annum, then in

https://dl.doubtnut.com/l/_2cU9z8S4sPA2
https://dl.doubtnut.com/l/_VOp7fQyqPEzU
https://dl.doubtnut.com/l/_8qKwbuh3ft3K


how years will Rs. 64000 amount to Rs. 68921?

Watch Video Solution

31. The population of a city increases by 5% per annum. If the

present population of a city be 370440 then what was its

population before 3 years?

Watch Video Solution

32. The population of a town increases by 15% per annum. If

the population of the twon in 2013 be 4000 then what will be

its population in 2015?

Watch Video Solution

https://dl.doubtnut.com/l/_8qKwbuh3ft3K
https://dl.doubtnut.com/l/_YHBT9N4VEFlJ
https://dl.doubtnut.com/l/_6pNu932WnKtF
https://dl.doubtnut.com/l/_TGq25RUNUgo2


33. The present value of a car is Rs 400000. If the value of the

car decreases by 10% per annum, then find the value of the

car after 3 years.

Watch Video Solution

34. The length of a tree increases by  parts of it every year.

If the present length of the tree be 64 centimetres, then what

will be the length of the tree after 2 years?

Watch Video Solution

1

8

35. The population of a town was 62500 before 2 years. Due

to migration the population of the town decreases by 4% per

annum. Then what is the population of the town at present?

https://dl.doubtnut.com/l/_TGq25RUNUgo2
https://dl.doubtnut.com/l/_3rc8HkVeBVQb
https://dl.doubtnut.com/l/_o2lwyONDhT1k


Watch Video Solution

36. If the production of cars of an industry rises from 40,000

to 48,400 in 2 years, then what is the rate of increase of

production of cars per annum in percentage?

Watch Video Solution

37. The value of a new car sis rs. 360000. If the value of the

car decreases by 10% per annum in the first 2 years and then

by 20% for each year, then what will be the value of the car

after 3 years?

Watch Video Solution

https://dl.doubtnut.com/l/_o2lwyONDhT1k
https://dl.doubtnut.com/l/_H0tqvIe1gkGb
https://dl.doubtnut.com/l/_xlMSt9j18iIO


38. The present value of a house in Rs. 100000. If the value of

the house decreases by 10% per annum, then what will be the

value of the house after 3 years.

Watch Video Solution

39. The value of a house is Rs. 500000. If the value of the

house decreases by 10% every year,then after how many years

will the value of the house be Rs. 364500?

Watch Video Solution

40. Ratan bought a scooter for Rs. 16000. If the value of the

scooter becomes Rs. 14440 after 2 years, then what is the

https://dl.doubtnut.com/l/_7vcsBSIItpiI
https://dl.doubtnut.com/l/_AuuWaN0Dbt6F
https://dl.doubtnut.com/l/_E2deA9ocUKP3


rate of decrease of the value of the scooter in percentage per

annum?

Watch Video Solution

41. The present value of a motor -cycle is Rs. 24057. If the

value of the motor cycle was decreased by 10% pr annum,

then what was value of the motor -cycle before 3 years?

Watch Video Solution

42. The population of a state increases by 10% per 3 years. If

the present population of the state be 3993000, then what

was the population of the state before 6 years?

Watch Video Solution

https://dl.doubtnut.com/l/_E2deA9ocUKP3
https://dl.doubtnut.com/l/_HUwbXBUPYQKM
https://dl.doubtnut.com/l/_sYe7Umx7QCOp


43. The population of a city was 800000 before 3 years. If the

population of the city increases by 5%, 6% and 7% in the last

3 years, then what is the present population of the city?

Watch Video Solution

44. The rate of depreciation of a machine is 15% of its value

in the beginning of the year. If the value of the machine is Rs.

6141250 at the end of 3 years, then what was the value of the

machine at the beginning iof the first year?

Watch Video Solution

https://dl.doubtnut.com/l/_sYe7Umx7QCOp
https://dl.doubtnut.com/l/_DhaY2oh5H06q
https://dl.doubtnut.com/l/_BW5AGkwJ55uY


45. The value of a new machine is Rs. 360000. The rate of

depreciation of the value of the machine in the first 2 years

be 10% per annum and for the next years it is 25% per

annum. So what will be the value of the machine after 4

years?

Watch Video Solution

https://dl.doubtnut.com/l/_U73B7cAABM5D

